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EXERCISE ONE
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L. (o) g HUR & S0k EIR BN S P ER 8 LR RIS T%
A4 ia], AnE AT AELE HifERE -

2. ([EZA)EndEm &2 — DM EN, UIEE —LERE - FiAl
=" n x mUERFHEFFRERE — P nmERIE -

3. (BKTH) A ES" R BN, N = (0,0,..., 1) 24U & LR R o - S™ -
N — R, Hef (2,22, 2" H) = 7(9511’1:2;'4’? )
LS = —-N Nk, &Xoy = —o(—x),r€S" - S.
PUNIERH AT AU S JEin = 2157 -

(a) WERA: o XS o K HHBRET -
(b) MEBH: o1, o, PATLL S HE T — MAsr 51 -
(c) MEBH: DA b25 A S540 5 581 | (5 B AR AR RS BRI
GER AR -
4. (WA FIRE)
(a) MO TR X | < 1BIR2AGS FIRE o 55 BIUE B FF IE 77 T (A
TR RTS R FREMSRR? & MITEHRINFERL .
(b) Mz = 2% + y? 52 = ORI FIAL -
(c) EXS? LRI RISt a(z) = —2, B HER— 1SRN, AT R
— M5 FIRE -
5. (VImZ5 VBT (FHPs, 1E5.)
(a) E8p € RZAHEYZEETRINE, W TENEAHDH Y&
P —Fli % -
(b) X : U - MR2—1PZHUL, HHT My, %
(c) X FFHRUEIMADEIEBS. Bey = (1,0),e2 = (0,1) AT RZHIY)
MR AHBENES, W dX(e) = 2%,i=1,2.
(d) LAHMHHL? + y? — 22 = 1—DSEUb (R B F % cosh, sinh),
EHTE (z,y, 0) S IVIFE - ERH: EN1EFATS 25 -

6. (BPEBLET ) A BB . M — N, H— St de, & 5 Y
BAXE rank(de) = dim(M). de, 2= A Hrank(dg) = dim(N).
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7. (BRATHIE)
(a) CAHLERIZ) v: R — 7% = S x St C C2,r(t) = (2™, e2mict) H
RN TREEL . AR 22 R ATFIRE AR TRATFIRIY -
R 2 O BRI BRELS, fZR AR -
(b) M2 4+ y? = 2? C RPEBRBEANTHIE?
8. (KFE)ENLEES : R* - RKFERf(21,...,2n) = KRG .
(a) f(x,y) = 2® — > A f(2,y) = ONRIRATIIE - AIRERA TR
e
(b) f(z,y) = 2% + 2y + v°, ViFAHUIREAERT, KPEREHAFIRIE -
(¢) flz,y,2) = 2%+ y* — 2, VB HUPLEAERT, AKPERZRATIIE -
9. (Lie Bracket)
(a) UERH: JacobifESFZ -
(b) &ER? LHMEYV = 1:8% —yZ W =yZ —za%, U= a:a% +yZ,
HEV, W], [W, U], [U, V], #HE JacobifE S, -
10. (PR fi B I TR
(a) **UERR: SEIFREAITTRECIHTE, SERRIE RSt
i
(b) *** Ui BRI BB TS £ Mo 46th) -
(c) *** 1B I TR RIS R,
(d) ***FgE St B — ML I EREIE A& -



